高二英语阅读训练（3）

A

  Ever since humans have lived on the earth, they have made use of various forms of communication． Generally, this expression of thoughts and feelings has been in the form of oral speech． When there is a language barrier(障碍) communication is completed through sign language in which motions stand for letters, words, and ideas． Tourists and the local people unable to make themselves understood by each other through speaking or writing have had to turn to this form of expressing．Many of these symbols of whole words are very lively and exact and can be used internationally; spelling, however, cannot compare with them． 

  Body language sends ideas or thoughts by certain actions, either meaningfully or not．A wink (眨眼) can be a way of showing that the party is only joking． A nod means agreement, while shaking the head indicates disagreement．

  Other forms of nonlinguistic (非语言的) language can be found in Braille (a system of raised dots read with the fingertips), signal flags, Morse code (莫尔斯电码) and smoking signals． Road maps and picture signs also guide and warn people． 

  All in all, while words are the most common form of communication, other systems and techniques also play the role of expressing human thoughts and feelings．

1． When words don't work ＿＿＿＿＿．

   A．people have no way to communicate

   B．people can use other forms of communication 

   C．other forms of communication are of little value     

   D．body language is invaluable

2． Which form other than oral speech could be most commonly used among blind people?

   A．Picture signs．    B．Braille．    C．Body language．    D．Signal flags． 

3． According to the passage, which of the following is TRUE? 

   A．Sign language is the best among all languages． 

   B．Braille is a kind of language for those who can't see well．

   C．Sign language can be used internationally． 

   D．Only language in the form of words can express human thoughts and feelings.

4． In this passage, there are ＿＿＿＿ different forms of communication mentioned.

   A． 8        B． 9        C． 10      D． 11

B

  SHENZHEN—Like many other China's firms, Konka in southern China's Shenzhen got its start as an “original equipment manufacturer” or OEM: It made TVs for other brands (品牌)．

  By the mid1990s, however, its executives (董事会) decided to create their own brand． There followed a seriously separate with Konka's longtime Hong Kong partner, which opposed the idea． Now, only one-third of Konka's products are OEM．

  “We didn't want to make things for other people any more,” said Huang Zhongtian Konka's vice general manager． “It was partly proper pride and partly smart business．”

  Konka has paid much of its attention to markets in the developing world． It has set up a US ＄15 million joint venture to produce TVs in India, and built factories in Indonesia and in Tijuana Mexico．

  But Konka also wants a share of the Western market． It already is the No．1 brand in Australia． By 2001 it hopes to sell 1 million color televisions in the United States, taking 5 percent of that giant market．

  Last year, Konka became the first Chinese firm to win a consumer electronics (电子) prize in the US, snapping up the“2000 Award for Innovation” during the Consumer Electronics Show in Las Vegas for its highdefinition．

5．After reading the passage, we can conclude that Konka is sold in the following continents

except ＿＿＿＿．

  A．Asia       B．America     C．Oceania (大洋洲)    D．Africa 

6．What do you think of the decision that has been made to create Konka's own brand？

  A．Determined and smart．      B．Successful and funny．

  C．Proud but careless．       D．Foolish and blind．

7．What's the main idea of the passage？

  A．Konka is a famous brand in China．

  B．Konka is showing its important position both at home and abroad．

  C．Konka's way to success．    

  D．Konka earned a lot of money since the mid 1990s．

C

  In physics, maths or other branches of natural science, you'll find many symbols, laws (定律；定理) and formulas (公式)． Such symbols, laws and formulas may be the scientists' language． With it a scientist can express his thoughts in a more exact and clear way．
  Take chemistry for example． The scientist always uses symbols to represent elements (元素)． He uses the first letter of the name, capitalized, as the symbol． For example, the symbol for hydrogen (氢) is H, for oxygen (氧)is O, for nitrogen(氮) is N． With such symbols, he can form the formulas(分子式) of compounds (化合物)． As we know, the formula for water is H2O．

  Sometimes, words in everyday use will change their meaning when scientists use them． One of the most interesting examples is the word “work．” In physics, “to do work” means to move something． If you push against something but do not move it, you have done no work． Here the word “work” is quite different in meaning from the same word in the saying “to do a good day's work．”

  There are many ways for scientists to express their thoughts besides writing, such as by designs or through data (数据)．

  The scientists'language is most important to scientific work． It is the ABC of science． Without it you cannot work at science, even a production plan cannot be carried out． And you cannot build a ship, a house, or a machine-tool (机床) if you do not know how to make design or how to read it．

8． The scientists' written language is made up of ＿＿＿＿．

   A．symbols       B．laws        C．formulas      D．All the above．

9． The scientists' language is used for ＿＿＿＿．

   A．talking about things in a simple, precise(精确的) way

   B．giving them ideas in a second language

   C．making them understand each other       

   D．giving classes to students

10． It is true that a common word ＿＿＿＿．

   A．always means the same thing in science   

   B．may mean a different thing in science

   C．can't help make it easy to understand science

   D．can never be of any importance to scientific work

11． The best title for this passage is ＿＿＿＿．

   A．Scientists' Language          B．How the Scientists Do Their Work 

   C．Chemistry and Physics        D．Chemistry Symbols 

D

  How much rain has fallen on the earth in the past﹖ Man has not always kept weather records． Because scientists need a way to learn about past rainfall, they study the tree rings．

  A tree's trunk (树干) keeps growing year by year． Under its bark(树皮) a tree adds a layer of new wood each year it lives． If you look at a tree stump, you can see the layers． They are called annual rings (年轮)．

  On some trees, all of the rings are of the same width． But the ponderosa (美国黄松) that grow in the American southwest have rings in different width． The soil in the southwest is dry． The pines depend on rainfall for water． In a year of good rainfall, they form wide rings． In a dry year they form narrow ones．

  Scientists do not have to cut down a pine to study its rings． With a special tool, they remove a narrow piece of wood from the trunk without harming the tree． Then they look at the width of each ring to see how much rain fell in the year it formed．

  Some pines are hundreds of years old and have hundreds of rings． These rings form an annual record of past rainfall in the southwest．

12． We could infer from the passage that ＿＿＿＿．

   A．a tree grows faster when it has a lot of water

   B．scientists cut down trees to study tree rings

   C．pine trees form rings of the same width every year

   D．the ponderosa grows in the southeast

15． A tree grows a new layer of wood ＿＿＿＿．

   A．each week     B．whenever it rains      C．every year    D．every season

14． On the whole, this passage is about ＿＿＿＿．

   A．why the tree trunks grow bigger           B．why scientists study tree rings

   C．trees that lived hundreds of years ago       D．the ponderosa in the US

15． The scientists ＿＿ to know how much rain fell in a certain area in the past．

   A．climbed up the trees           B．moved the pine tree 

   C．removed a piece of wood       D．studied the width of the tree rings

16． Which of the following does the passage lead you to believe﹖ 

   A．Young trees have fewer annual rings than old ones．

   B．The trunk of a tree never changed in size．

   C．Trees in the southwest do not need rain． 

   D．The soil in the southwest is fit for the growth of trees．

E

  George Crum was a cook at a hotel in the town of Saratoga Springs, New York.One day in 1853 a customer complained because the fried potatoes he was served were too thick． When George Crum heard this, he got very angry． In fact, he got so angry that he decided to cut some potatoes very,very thin． When the waiter took the thin pieces to the customer, Crum thought that the customer would be infuriated (激怒)． However, much to Crum's surprise, the customer liked the thin potatoes． These new thin pieces caught on quickly and soon developed into a whole new business． Today Americans eat millions of dollars' worth of potato chips every year．

17． George Crum got very angry because ＿＿＿＿．

   A．the conditions of the hotel were too bad

   B．a customer didn't enjoy the thick potatoes fried by him

   C．he had a quarrel with a certain customer

   D．he didn't want to cook in the hotel any longer

18． Why did Crum decide to cut some potatoes very thin﹖

   A．Because he knew the customer liked eating the thin potato pieces．

   B．Because he wanted to please the customer．

   C．Because the customer told him to do so．

   D．Because he wanted to make the customer angry．

19． The phrase “caught on” here may mean ＿＿＿＿．

   A．were understood    B．became famous    C．became popular     D．were lost

20． Which of the following tells the main idea of the passage﹖

   A．Crum tried to improve his cooking skill．

   B．Potato chips had a very interesting beginning．

   C．Potato chips are cheap and Americans eat a lot of them．

   D．Americans really like potato chips very much．
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